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®  Degree (Part-I) Examination, 2022 o R P T AR
1 . _ L
(Honours) ' - (1) ,j’How the final payment is made to the partners at
’ Y the time of dissolution of partnership firm?
ACCOUNTS GROUP ol

(a) Partners

| Paper : First |

[ PPU-D-1(H)-ACC-1 | ' (b)  Firms
( Financial Accounting ) () Wives
Time : Three Hours] [Maximum Marks : 100 (d)  None of these

aeier B9 & [ged 3 oy ariie @ oIl
PIA B8 B S 27

Note : Candidates are required to give their answers in their own /
wqrds as far as practicable. The questions are of equal (}d T
.Vélue. Answer any five questions. Question No.1 is
o y e s | (b) WH B
compulsory.
P | c T B
e rEE o o= § & Se § A 9 & (©)
A ST 3 R 9 el & SR A ue @ A R
Hear-1 e ¥ | | |
-l x Partners are not authorised to receive ........ duej
| to the lack of Agreement. f
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(a) Profit- -
rofit--Loss T =5 E?[Fﬂ %:
(b) Interest on Loan i | .
(a)  hehel |
(c) Salary .
(o) FE=H

(d) None of these

' (c) =_wil fT
T 3 39T B BRI GFEER ... O B
3 R it =8 B d HEE A
(a) AN-ge 4 _ (iy~~ Kind of accounting is :
(b) FOT G ST (a)  Financial Accounting
() & - (b)  CostAccounting

Jd( T 4 HiS T ' (c) Management Accounting
Wi Presidency Township Insolvency Act is not (d) All of the above
applicablein: o o T
@ Cales (@) i e
(b) Mumbai o) — )
(c) Delhi | © S _
(d) Chennai \_(}9/ i
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(b)  SIEXT W B A A

() @R F Ao A

(d) waﬁ%mm@(

M What is called jointly the partners?
(a) Partnership firm
(b) Partnership business
(c) Partnership organisation

(d) All of the above

ST % g Pl e Sl ?h ol g;‘What is said excess income over expenditure in
(a) e B9 the Non-Trading organisation?
(b) PRI FEE (@  Profit
S| CAR) FRET | ) \v('bjr Sgrplus_
'L(d/ SRR o (c) Loss
M After the dissolution of firm partners capital _ ;:: Deficiency
account is closed : | | T e & e |
C}?ﬂ/ By Realisation Account ' el ST 3 T B aﬁﬂﬂ%{ I
(b) By Drawing Account | . '\;:; L
(c) By Baﬁk Account : ( ) S
c
(dy BY Loanchount (dj : :
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AN Y B A B A e e §
(viii)  Receipt and Payment A/C is : ‘ Fre & & & am _ M

(a) Personal A/C (a) A
(b) Real AIC | (b)  EE-FE oS
()  Nominal A/C § WSk gEnT
(d) None olf these ‘ (d) Bigae
,__Q:ﬂq—?q??{ TS - (X Which one is the accounting functions?
(a) fRpTa @ral (a) Accounting of business transactions
(b) JRAH T (b) | Presentation of financial condition of
" business
\y BRIt EIEREISH .
) = § g A (c) Determination of net profit
(ix)+ VWhich one is not profit earning organisation? \9/A” of the above
T Pt % A S & B %
(a) College . _
(b) Sports club - @) FEFANE TH-27 a5y NECIEr!
(&) Mt naust * L E‘am o e R e
k(d) Hospital | (©) S AN B Moy
g -
‘ > )
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The following is the balance sheet of A, B and C as on

31st March, 2011:

Liabilities Amount Assets Amount
(Rs) (Rs)

Creditors 2,000{Cash at Bank 500

Bank Loan 500|Stock 2,e00

B./P. 500|Plant 2,000

Capital : S/Debtors 1,000

A -2,500 B/R 1,000
B -1,500 C's Capital :

4,000{(Overdrawn) 500

7,000 7,000

| . € Es) %.
31 9T, 2011 %t Frfefea onféiss Rrgr A, B AR C H &1

- (A

3101-01/8710

2
(Rs) (Rs)

e 2,000(9% H %% 500
S ot 500| &fH 2,000
aF feret 500| @Toe 2,000
i fefer it 1,000
A 2500 G iiqa 1,000
B -1500 | (CHE |
- 4,000 (sifers Femreit) 500

o [ 7,00

(9)

[P.T.O.]

C is insolvent but his partners recover from hiS estatg_jl
Rs. 250. It is decided to wind-up the partnershjp anq“
the assets realised: Stock-Rs. 1,600, plant- X 1,50.0;1'
S/Debtors ¥ 750, B/R % 700. Profits and lossesg are
divided equally. What would be the po§ition of each
partner's account on the winding-up of the: partnership
in accordance with the Partnership Act? The cost of

realisation amounting to Rs. 250. '

C fRenforar & T & AT SEH TR ¥ wEey 3
% 250 a9 fpu Eﬁﬁrﬁﬁwmﬂwm
T S TR g R T g % 1600
®oe % 1,500, fafag o z 750, g fot- = 700, T
Gﬂ?%ﬁﬁweﬁwﬁaﬁ?ﬁ%l R w3
mrm%wwmmﬁwﬁaﬁ
@Tﬁ?iﬁﬁ&fﬂrﬁwsog‘él -

From the Receipt and Payment Account of the City Club

for the year ending on 31st March, 2018 Prelpare. an

lncqme and Expenditure Account and the
as on that date-

Balance-sheet

3101-01/871n



Receipt and Payment Account

e D
yifrar LG AT @
. (Rs) (Rs ]
& 25000| 19T 20000
A T T IF 2000/ % 9 =g 450
Receipts Amount Payments Amount P
‘ (Rs) (Rs) 9 GAET 1050
Donation 25,000|Building 20.000 AT i 5,000 fafvi 9000
Life membership 2,000|Expenses on | 450 T 1600
Fees : Matches
Match Fund 5,000|Furniture ; ,ggg (2018-19 &I
Revenue Receipts Investments y 50 5. ST ‘
Revenue ) SUENSICSSIR IR -
Rs.50, 2018-19 payments : oAg WA - 100 ¥ 900
Subscription 1600 Salary 288 200
Including Rs.50 for Tennis g
.(’201 8-1 9;3 Cricket 270 Frae 270
Interest on Ins. paid ;—’p 1‘20 @ o a3 R
security 100 Dec._201
' 1Printin 225 gt 2019 dF) 180
e o 1,950
Sundries 75 2o i 025
Balance c/d 1,79
g 75| 1950
_C';drTc_ket 200 ) F\ -‘?[E{ 1,750
Tenis 2201 2200 - NI 200
i = 34,2 -
Sundries 34.200 3,200 g aso
f
e 50 | 2200 .
R
L 38200 32200
. N __-—_-———__—_‘_—‘—__ X
- : Ty § 31 A, 2018 —
e e & Ana gl A o
’ -~ %1! #a}q @‘I\l! 3 o bs Y
T e ay a9 B il \Subscription o/s for 2017-18 were Rs 150 and salarie
- T . : unpaid for March, 20918 were Rs.85 '
. ' AT 2017-18 3 ¢ |
tq od A @) R ST Rs 150 3 :
Q:a- I:r . S 50 » aa_q- ]
B | ' T Rs.85 91y A 201873
3101-01/8710 |
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Usha Lt
4. t ha_ d. has the Branch at Gaya. Goods are invoiced _
o t (a) . - b ’
f € branch at 209, profit on invoice price. From the TR ¥ U T‘\I—GI'TS' 9,500 |
ollow;j i
'Ng Prepare Branch A/C in Headoffice books - e FHIATT BN ‘:{\_Tr?;ﬂ RS 3,320
Rs. Meh @ A T Hern 400 L
Credit sales. ) 11 200 Hied \i% §GT{ 100
Y =@ @ TaH e &g 81 200
Goods supplied to B invoice ori - - - )
pp ranch at invoice price 38,000 mEE Y ue @ 200
Cash sales : ' 24,800 ' '
Cash received from debtors 9,500 5/’,’// What do vou mean by accounting? Describe briefly it}
Wages paid by headoffice - 3,320 kinds -
. Disco | 400 . e -
+ Discount allowed to customers i @ W wEe B ee g & ol
+Goods spoiled 100 i) q
xpenses paid by HO. 200 ‘
L/Sﬁndry exp P y _ % 6. Discuss the Garner Vs Murray decision.
Goods Returned by customers 2 . =%

- T T RO ) e W Ffm
-w%ﬁﬁgaﬁwsn@wﬁ%ﬁmﬁmizg ) BRI I
20% <M+ g A S IRYIR] 21 feiteea : 7. Distinguish between statement of affairs and balance.

' g g @ren R sheet. _

e W e e H | |

11,200 Rerfir et o ol SE——
o 38,000 - 7/ e IV

T 3%, 8. |
e @ Ao T T A 24,800 # 7960 you understand by Financial Statement
: .- Discuss its importance and fimitati '

IS fc’{ib‘q | imitations.

[P.T.O.]
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What do you mean by insolvency? Discuss the

advantages and disadvantages of this law.

B & STy FT R ¥ T oW o a @ A
T

/What is Hire-purchase system? Explain its features.



